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Algebra 1 (acad) Name K E\l ID: 2

TWP - Current Word Problems with Systems Date Period

1) Flying with the wind a plane went 340 mph. Flying into the same wind the plane only went 302
mph. Find the speed of the plane in still air and the speed of the wind@,pg;,o oF TWE PLAN e\

Key Information: Draw a picture! PLARE IN STILLAYR
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Solve and Check:
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2) Traveling with the current a certain boat went 10 mph. Against the same current it only went 2
mph. Find the speed of the boat in still water and the speed of thr;: *E_‘urrent.
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Key Information: Draw a picture!

Variables: X= Opeecd in shHllWeter (miph) Y= Cucrent gpee.d (mph)
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3) Traveling downstream a certain boat went 10.5 mph. Traveling upstream it only went 1.9 mph.
Find the current and the speed of the boat if there were no current. =

Key Information: Draw a picture!
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Equations: 1) X4y = los |
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4) A plme traveled 600-miles to San Francisco and back’.‘ The trip there was with the wind. It took
0“50 5 hours. The trip back was into the wind. The trip back took 10 hours.-What is the speed of the

- plane invstill air? ‘What is the speed ofthe wind? .
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nswer (in words)
L> The Seeel ot o ?lcne_ in s-Hl‘ ar is Jomph
and Yoo Speed of He wind is Fomph,
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